

# **Summary of Bids Received**

Project: Signal Equipment Installation 2013 (Base Bid and Added Alternatives A & D combined)

Section: 13-00000-11-GM

**Description:** Install UPS and Retrofit Traffic Signals

<b>Bidder</b> Home Towne Electric, Inc. H&H Electric Company	Address P.O. Box 863 2830 Commerce Street	City, State, Zip Lake Villa, IL 60046 Franklin Park, IL 60131	Bond Bid Bond Bid Bond	<b>Bid Price</b> \$97,155.00 \$99,957.60	% Over/Under Eng. Estimate -10.02% -7.43%	
Contract Award Limit Engineer's Estimate				\$100,000.00 \$107,975.00		
Design	IDOT(2)	Contract Bidder	P <sup>,</sup>	T then Plan Rack		
Finance	Bid Tab File	Resident Eng.	A	dministrative Assis	stant	
Construction	Project File	Request By Mail	N	1gr Capital Prograr	nming	



### **Return Bid Tabulation**

Project: Signal Equipment Installation 2013 (Base Bid and Added Alternatives A & D combined)

Section: 13-00000-11-GM

**Description:** Install UPS and Retrofit Traffic Signals

Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imata	Home Towne	Electric Inc	H&H Electric Company		
itelli No.	Pay Code	Description	Quantity	Oilit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
1	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	8.0	EACH	\$250.00	\$2,000.00	\$760.00	\$6,080.00	\$366.00	\$2,928.00	
2	88030020	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, MAST-ARM MOUNTED	14.0	EACH	\$1,000.00	\$14,000.00	\$593.00	\$8,302.00	\$515.70	\$7,219.80	
3	88030050	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, BRACKET MOUNTED	5.0	EACH	\$900.00	\$4,500.00	\$532.00	\$2,660.00	\$439.50	\$2,197.50	
4	88030100	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, BRACKET MOUNTED	5.0	EACH	\$1,400.00	\$7,000.00	\$781.00	\$3,905.00	\$596.20	\$2,981.00	
5	88030110	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, MAST-ARM MOUNTED	6.0	EACH	\$1,500.00	\$9,000.00	\$855.00	\$5,130.00	\$736.40	\$4,418.40	
6	88030220	SIGNAL HEAD, LED, 2-FACE, 5-SECTION, BRACKET MOUNTED	1.0	EACH	\$2,800.00	\$2,800.00	\$1,515.00	\$1,515.00	\$1,155.60	\$1,155.60	
7	88030240	SIGNAL HEAD, LED, 2-FACE, 1-3 SECTION, 1-5 SECTION, BRACKET MOUNTED	1.0	EACH	\$2,400.00	\$2,400.00	\$1,269.00	\$1,269.00	\$1,005.60	\$1,005.60	
8	88200210	TRAFFIC SIGNAL BACKPLATE, LOUVERED, ALUMINUM	20.0	EACH	\$175.00	\$3,500.00	\$135.00	\$2,700.00	\$74.60	\$1,492.00	
9	88102717	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER	4.0	EACH	\$1,000.00	\$4,000.00	\$534.00	\$2,136.00	\$563.50	\$2,254.00	
10	88102747	PEDESTRIAN SIGNAL HEAD, LED, 2-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER	3.0	EACH	\$2,000.00	\$6,000.00	\$755.00	\$2,265.00	\$1,039.60	\$3,118.80	
11	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$1,100.00	\$1,100.00	\$7,500.00	\$7,500.00	\$7,452.60	\$7,452.60	
12	X8620200	UNINTERRUPTABLE POWER SUPPLY, SPECIAL	8.0	EACH	\$4,700.00	\$37,600.00	\$4,653.00	\$37,224.00	\$6,398.00	\$51,184.00	
13	X8803040	SIGNAL HEAD, LED, 2-FACE, 1-3 SECTION, 1-5 SECTION, BRACKET MOUNTED, RETROFIT	1.0	EACH	\$600.00	\$600.00	\$597.00	\$597.00	\$480.40	\$480.40	



### **Return Bid Tabulation**

Project: Signal Equipment Installation 2013 (Base Bid and Added Alternatives A & D combined)

Section: 13-00000-11-GM

**Description:** Install UPS and Retrofit Traffic Signals

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	Eng Estimate		Electric, Inc.	H&H Electric Company	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
14	X8803082	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, BRACKET MOUNTED, RETROFIT	8.0	EACH	\$200.00	\$1,600.00	\$238.00	\$1,904.00	\$191.30	\$1,530.40
15	X8803084	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, MAST ARM MOUNTED, RETROFIT	15.0	EACH	\$220.00	\$3,300.00	\$236.00	\$3,540.00	\$191.30	\$2,869.50
16	X8803088	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, MAST ARM MOUNTED, RETROFIT	7.0	EACH	\$325.00	\$2,275.00	\$407.00	\$2,849.00	\$302.00	\$2,114.00
17	X8803210	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, BRACKET MOUNTED, RETROFIT	7.0	EACH	\$300.00	\$2,100.00	\$411.00	\$2,877.00	\$302.00	\$2,114.00
18	X8803910	SIGNAL HEAD, LED, 2-FACE, 5-SECTION, BRACKET MOUNTED RETROFIT	1.0	EACH	\$600.00	\$600.00	\$814.00	\$814.00	\$604.00	\$604.00
19	X8810617	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED, RETROFIT	12.0	EACH	\$300.00	\$3,600.00	\$324.00	\$3,888.00	\$236.50	\$2,838.00
Bid Total						\$107,975.00		\$97,155.00		\$99,957.60



## **Return Bid Details**

Project: Signal Equipment Installation 2013 (Base Bid and Added Alternatives A & D combined)

Section: 13-00000-11-GM

**Description:** Install UPS and Retrofit Traffic Signals

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	8.0	EACH	\$250.00	\$2,000.00	\$366.00	\$760.00	\$563.00
2	88030020	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, MAST-ARM MOUNTED	14.0	EACH	\$1,000.00	\$14,000.00	\$515.70	\$593.00	\$554.35
3	88030050	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, BRACKET MOUNTED	5.0	EACH	\$900.00	\$4,500.00	\$439.50	\$532.00	\$485.75
4	88030100	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, BRACKET MOUNTED	5.0	EACH	\$1,400.00	\$7,000.00	\$596.20	\$781.00	\$688.60
5	88030110	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, MAST-ARM MOUNTED	6.0	EACH	\$1,500.00	\$9,000.00	\$736.40	\$855.00	\$795.70
6	88030220	SIGNAL HEAD, LED, 2-FACE, 5-SECTION, BRACKET MOUNTED	1.0	EACH	\$2,800.00	\$2,800.00	\$1,155.60	\$1,515.00	\$1,335.30
7	88030240	SIGNAL HEAD, LED, 2-FACE, 1-3 SECTION, 1-5 SECTION, BRACKET MOUNTED	1.0	EACH	\$2,400.00	\$2,400.00	\$1,005.60	\$1,269.00	\$1,137.30
8	88200210	TRAFFIC SIGNAL BACKPLATE, LOUVERED, ALUMINUM	20.0	EACH	\$175.00	\$3,500.00	\$74.60	\$135.00	\$104.80
9	88102717	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER	4.0	EACH	\$1,000.00	\$4,000.00	\$534.00	\$563.50	\$548.75



## **Return Bid Details**

Project: Signal Equipment Installation 2013 (Base Bid and Added Alternatives A & D combined)

Section: 13-00000-11-GM

**Description:** Install UPS and Retrofit Traffic Signals

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
10	88102747	PEDESTRIAN SIGNAL HEAD, LED, 2-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER	3.0	EACH	\$2,000.00	\$6,000.00	\$755.00	\$1,039.60	\$897.30
11	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$1,100.00	\$1,100.00	\$7,452.60	\$7,500.00	\$7,476.30
12	X8620200	UNINTERRUPTABLE POWER SUPPLY, SPECIAL	8.0	EACH	\$4,700.00	\$37,600.00	\$4,653.00	\$6,398.00	\$5,525.50
13	X8803040	SIGNAL HEAD, LED, 2-FACE, 1-3 SECTION, 1-5 SECTION, BRACKET MOUNTED, RETROFIT	1.0	EACH	\$600.00	\$600.00	\$480.40	\$597.00	\$538.70
14	X8803082	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, BRACKET MOUNTED, RETROFIT	8.0	EACH	\$200.00	\$1,600.00	\$191.30	\$238.00	\$214.65
15	X8803084	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, MAST ARM MOUNTED, RETROFIT	15.0	EACH	\$220.00	\$3,300.00	\$191.30	\$236.00	\$213.65
16	X8803088	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, MAST ARM MOUNTED, RETROFIT	7.0	EACH	\$325.00	\$2,275.00	\$302.00	\$407.00	\$354.50
17	X8803210	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, BRACKET MOUNTED, RETROFIT	7.0	EACH	\$300.00	\$2,100.00	\$302.00	\$411.00	\$356.50
18	X8803910	SIGNAL HEAD, LED, 2-FACE, 5-SECTION, BRACKET MOUNTED RETROFIT	1.0	EACH	\$600.00	\$600.00	\$604.00	\$814.00	\$709.00



## **Return Bid Details**

Project: Signal Equipment Installation 2013 (Base Bid and Added Alternatives A & D combined)

Section: 13-00000-11-GM

**Description:** Install UPS and Retrofit Traffic Signals

				Eng Estimate					
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
19	X8810617	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED, RETROFIT	12.0	EACH	\$300.00	\$3,600.00	\$236.50	\$324.00	\$280.25
	Bid Total					\$107,975.00			